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7. Josh wants to buy a new kayak. He sees one he likes on sale for
$3842.00 cash. He does not have the cash to buy the kayak right away so

he must consider his options. ,v"’
Option 1: The kayak store has a plan where Josh can pay $500.00 down L\ Qb']
and $300.00 a month for 1 year, plus an administration fee of $25.00. o,\aY J) (‘\_‘ P3
Option 2: Josh could also borrow the money from his bank at 8.50% per | |g ({\ 3

) 2A70

annum for a term of 1 year, and then pay cash for the kayak. /YO/ 2 "l, b
)

Option 3: Josh could save $300.00 a month until he has enough cash to

buy the kayak. a /7 3§ l O

a) What would the monthly payment be for each option? Use the personal
loan payment calculator on p. 132 to calculate the payments.

b) Calculate the total cost for each option.

c) Why might Josh choose each of these options? “/Iu(? X
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REFLECT ON YOUR LEARNING Ready for the test???

FINANCIAL SERVICES

Now that you have finished this chapter you should be able to:

o o o ua A

o o o 4

describe banking options and discuss their advantages and disadvantages;

G Notes B
solve simple th:rest problems; T= ?’ {} @
b=+
solve compound interest problems; p( ) (( I /{'\){\'ﬁ T A- (P

use the Rule of 72 to estimate the time needed for an investment to double:

£ 12 2 /et
describe different credit options, including bank and store credit cards,
personal loans, lines of credit, and overdrafts; (ned? T
solve problems that involve credit cards; 4 %, ¢ e
solve problems that involve loans; T
g Lonn ’&b\(

solve problems that involve sales promotions; and

make informed decisions related to the use of credit.
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Section 3.4 Personal Loans, Lines of Credits, and Overdrafts, Build Your Skills, p177-180
Student Resource p135-136

Build Your Skills

For questions 1 to 3, use the personal loan payment calculator table (Blackline Master 3.5, p.
195) to determine the monthly payment.

1. a) Monthly payment = $31.11

Total amount paid = $31.11/month x 36 months

Total amount paid = $1119.96

Finance charge = $1119.96 — $1000.00

Finance charge = $119.96

b) Monthly payment = $24.18 per $1000.00 borrowed
Monthly payment = $24.18 x ($2500.00 + $1000.00)
Monthly payment = $60.45

Total amount paid = $60.45/month x 48 months

Total amount paid = $2901.60

Finance charge = $2901.60 — $2500.00

Finance charge = $401.60

¢) Monthly payment = $20.76 per $1000.00 borrowed
Monthly payment = $20.76 x ($3000.00 +~ $1000.00)
Monthly payment = $62.28

Total amount paid = $62.28/month x 60 months

Total amount paid = $3736.80

Finance charge = $3736.80 — $3000.00

Finance charge = $736.80

2.a) $1565.45 — $500.00 = $1065.45

Amy will have to borrow $1065.45.

b) Monthly payment = $87.10 per $1000.00 borrowed
Monthly payment = $87.10 x ($1065.45 +~ $1000.00)
Monthly payment = $92.80

Amy’s monthly payment will be $92.80.

c) Calculate Amy’s total loan payment.

$92.80/month x 12 months = $1113.60

Amy’s loan will cost her $1113.60.

d) Calculate the cost of the computer, which will be the sum of the loan payments plus down
payment.

$1113.60 + $500.00 = $1613.60

Amy will pay $1613.60 for the computer.

3. Calculate the cost of each payment option.
Option 1: Borrowing from the bank.

Monthly payment = $43.87 per $1000.00 borrowed
Monthly payment = $43.87 x ($8500.00 + $1000.00)
Monthly payment = $372.90

Cost = $372.90/month x 24 months

Cost = $8949.60





Advantage: Cindy can afford the monthly payments.

Disadvantage: The total paid is $449.60 more than the cash price of the snowmobile.
Option 2: Credit card.

Calculate the interest, 22.5% of $8500.00.

0.225 % $8500.00 = $1912.50

Cost = $8500.00 + $1912.50

Cost=$10412.50

If she pays her credit card balance in 1 year, the snow machine will cost her approximately
$10 412.50.

Calculate the minimum payment for the first month.

$8500.00 x 0.05 = $425.00

Advantage: If she can pay off her credit card quickly, this might be a good option, especially
if she is offered air travel rewards or some other type of reward. But it looks like Cindy will
not be able to afford to do this.

Disadvantages: She does not have the cash to pay off her purchase to avoid interest charges.
Her first minimum payment will be $425.00, which she cannot afford. The total cost of the
snow machine is significantly higher than options 1 or 3.

She should avoid this option.

Option 3: Line of credit.

Monthly payment = $43.65 per $1000.00 borrowed

Monthly payment = $43.65 x ($8500.00 + $1000.00)

Monthly payment = $371.03

Cost = $371.03/month x 24 months

Cost = $8904.72

Advantage: The line of credit option gives her flexibility and she doesn’t have to apply again
for a new loan if she wants one at a later date.

This is the least expensive option.

Disadvantage: The total paid is $404.72 more than the cash price of the snow machine.

4. Toby will have to pay the returned-cheque fee twice.
Fees =2 x $25.00

Fees = $50.00

Toby will pay $50.00 in charges for his NSF cheques.

5. a) $560.00 — $500.00 = $60.00
If he takes the payday loan, Ramon will pay $60.00 interest.
b) Calculate the daily interest rate.
1= Prt

$60.00 = $500.00 x r x 10

$60.00 = ($5000.00)r

$60.00 +~ $5000.00 = r

0.012=r

Convert to a percent.

0.012 x 100 = 1.2% per day
Calculate the annual interest rate.
1.2 x 365 = 438% per year

6. An overdraft occurs when you withdraw more than you have in your account. You are
charged a fee for being overdrawn, and your bank will not make any payments which you





cannot cover. You can get overdraft protection, which means that the bank will pay for your
overdrawn withdrawals, but you must still pay a fee.

A line of credit is a negotiated loan with your bank, which allows you to withdraw funds up
to an agreed-upon limit. You pay interest until these funds are repaid. Unlike an overdraft, a
fee is not charged to withdraw funds from a line of credit.

When choosing between an overdraft and a line of credit, there are advantages and
disadvantages to both. An overdraft is inexpensive or free to put in place, and is easily and
quickly arranged. However, you might be charged an interest rate higher than that on a line of
credit. A secured line of credit will often offer a better interest rate, but it also offers you the
opportunity to spend money that you don’t have. Because a line of credit offers a better
interest rate, it is probably the better option.

Extend Your Thinking

7. a) Calculate the monthly payment for each option.

Option 1: $300.00 a month

Option 2:

Monthly payment = $87.22 per $1000.00 borrowed

Monthly payment = $87.22 x ($3842.00 +~ $1000.00)

Monthly payment = $335.10

Option 3: $300.00 a month

b) Calculate the total cost for each option.

Option 1:

Cost = down payment + (12 x monthly payment) + administration fee

Cost = $500.00 + ($300.00 x 12) + $25.00

Cost = $4125.00

Option 2:

Cost = 12 x monthly payment

Cost =12 x $335.10

Cost = $4021.20

Option 3:

Cost = $3842.00

c¢) Option 1: He can buy it immediately and doesn’t have to apply for a loan. It is the most
expensive way.

Option 2: This is cheaper than option 1 and he can get the kayak right away. He will need to
get a loan.

Option 3: This is the cheapest way, but Josh will have to wait to buy the kayak.
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Chp. 3: Financial Services...Loans

BUILD YOUR SKILLS ‘

For questions 1 to 3, you can use the personal loan payment calculator table
on p. 132 or an online monthly payment calculator.

3.4 PERSONAL LOANS, LINES OF CREDIT,

AND OVERDRAFTS

BUILD YOUR SKILLS, PAGE 135

1. Calculate the monthly payment, the total amount paid, and the finance

charge for each of the following loans.

Explain the difference between an overdraft and a line of credit. Which of
these is the better loan option?

Extend Your Thinking

Josh wants to buy a new kayak. He sees one he likes on sale for
$3842.00 cash. He does not have the cash to buy the kayak right away so
he must consider his options.

Option 1: The kayak store has a plan where Josh can pay $500.00 down
and $300.00 a month for 1 year, plus an administration fee of $25.00.

Option 2: Josh could also borrow the money from his bank at 8.50% per
annum for a term of 1 year, and then pay cash for the kayak.

Option 3: Josh could save $300.00 a month until he has enough cash to
buy the kayak.

a) What would the monthly payment be for each option? Use the personal

loan payment calculator on p. 132 to calculate the payments.
b) Calculate the total cost for each option.

¢) Why might Josh choose each of these options?

1. a) Monthly payment = $31.11
a) $1000.00 at 7.50% per annum for 3 years; Total amount paid = $1119.96
b) $2500.00 at 7.50% per annum for 4 years; Finance charge = $119.06
c) $3000.00 at 9.00% per annum for 5 years. b) Monthly payment = $60.45
. Amy would like to buy a computer. The one she wants costs ll:—?;zlni?;l;;[ pz:d?s:glzgglﬁo
$1565.45 including taxes. Amy has saved $500.00 for a down payment. & ’
a) How much will Amy have to borrow to buy her computer? a) Monthly payment = $62.28
_ o _ Total amount paid = $3736.80
b) She can get a loan at 8.25% per annum with an amortization period of Finance charge = $736.80
1 year. What will be her monthly payment?
¢) What will be the total she pays for her loan? 2. a) $106545
d) How much will the computer cost Amy? b) $92.80
Cindy has a snow machine touring company based out of Labrador City. o $1113.60
She wants to purchase a new snow machine. Cindy has no available
cash for a down payment. She has estimated that she can afford to pay d $1613.60
no m‘?re than S4OG_OQ a month for the nm-(} 2 years. The §n0\vv machine 3. Option 1: $8040.60
dealer offers _the machine she wants for $8500.00 cash. Cindy has three Option 2: $10 412.50
payment options. Option 3: $8904.72
- Sh t a loan from her bank at 5.00% per er 2 years,
an:l ;E:; chsli e o frer bar PEF AL OveD 2 yedts Advantages/disadvantages will vary.
+  She can pay using her credit card, which charges an annual interest rate 4. $50.00
of 22.50%. Calculate the minimum payment for the first month (5% of 5. a) $60.00
the balance).
+  She can get a line of credit at 4.50% per annum that she plans to pay b) 1.2% per day; 438% per year
off over 2 years.
Calculate the total cost of each of Cindy’s options. Describe one advantage 6. An ovel_rLdraf.[ O‘:}‘;MS when you Withdr@\v
and one disadvantage to each of these three options. more Lthan you have In your account. You are
charged a fee for being overdrawn, and your
bank will not make any payments which
you cannot cover. You can get overdraft
4. Toby wrote two cheques that were returned because he did not have protection, which means l_hat the bank will
enough money in his account to cover them. The cheques were for pay for _}‘il‘mr ovefrdrawn withdrawals, but you
$50.00 and $150.00. His bank charges $25.00 for each returned cheque. must sl pay a lee.
How much did Toby have to pay in fees? A line of credit is a negotiated loan with your
Ramon needs $500.00 as soon as possible to cover his student loan bank which allows you to.wnhde' funds
) : up to an agreed-upon limit. You pay interest
payments. He goes to a lending store for a payday loan. The lending until these funds are repaid. Unlike an
store tells him he will have to write a cheque for $560.00 dated 10 days overdraft, a fee is not charged to withdraw
from now. funds from a line of credit.
a) How much will Ramon have to pay in interest if he takes the Answers will vary.
payday loan?
h) Calculate the daily interest rate and the annual interest rate for Extend your thinking
this loan. 7. a) Option 1: $300.00

Option 2: $335.10
Option 3: $300.00

b) Option 1: $4125.00
Option 2: $4021.20
Option 3: $3842.00

¢)  Answers will vary.
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Chapter 3 Financial Services, Practise Your New Skills, p181-183
Student Resource p138—139

1.

| Value | Self service | Full service | Bonus savings
Month 1
Approximate minimum monthly balance: $900.00 (opening balance)
Monthly fee $3.90 $10.90 $24.50 $0
Transaction 8 x $0.50 =$4.00 | $0 $0 16 x $1.25=
charges $20.00
Month 2

Approximate minimum monthly balance: $900.00 plus deposits,

from Month 1 (opening balance)

minus withdrawals and service charges

Monthly fee

$0

$10.90

$24.50

$0

Transaction
charges

8 x $0.50 = $4.00

$0

$0

16 x §1.25=
$20.00

TOTAL

$11.90

$21.80

$49.00

$40.0

2.

Bank card

Online banking

Bank teller

ATM

Cheque

Pay Bills

I

0

0

0

Buy traveller’s
cheques

O

0

Withdraw cash

I

0

Deposit
cheques/cash

0

0

Transfer
money

between
accounts

Purchase items
from store

Deposit
paycheques

Obtain foreign
currency

Check account
balance

3.
I =Prt

$60.00 = $3000.00 x 0.03 x ¢

$60.00 = $90.00¢

$60.00 .
$90.00

It will take % of a year, or 8 months, to earn $60.00 interest.

4.a)I=Prt

1= ($800.00)(0.10)(1)






I=$80.00

The interest to be paid over 1 year is $80.00.
b) Total = principal + interest

Total = $800.00 + $80.00

Total = $880.00

The total amount to be paid back is $880.00.
c¢) Calculate the monthly payment amount.
$880.00 ~ 12 =$73.33

The monthly payments will be $73.33.

5.a)

Period | Value at beginning of period | Interest (I = Prt) Value at end of period

1 $1000.00 $1000.00 x 0.0425 = $42.50 | $1000.00 + $42.50 = $1042.50
2 $1030.00 $1042.50 x 0.0425 = $44.31 | $1042.50 + $44.31 = $1086.81
3 $1060.90 $1086.81 x 0.0425 = $46.19 | $1086.81 + $46.19 =$1133.00

b) Calculate the total interest after 3 years.

I = total value — principal

I=1%1133.00 — $1000.00

1=1%$133.00

The total interest earned after 3 years is $133.00.

6. Use the Rule of 72.

72 + interest rate = time in years

72 +2.00% = 36 years

It will take about 36 years for the investment to double in value.

7.
4=P(1+ %)nt

(2x17)

.045
A = $4000.00 (1 + T)

A =$4000(1.0225)3*
A =~ $8523.40
The investment will be worth $8523.40 after 17 years.

8. a) Calculate the total of Henry’s purchases.

$65.00 + $245.89 + $52.00 + $105.65 + $65.00 + $12.50 = $546.04
b) The unpaid balance is the previous balance minus the payment.
$527.55 - $200.00 = $327.55

c)l=Prt

1=$327.55x0.195 x (31 + 365)

I1=85.42

The interest on the unpaid balance is $5.42.

d) The new balance is the unpaid balance from the previous statement plus the new purchases
and interest.

$327.55 + $546.04 + $5.42 = $879.01

The new balance is $879.01.

e) Calculate 5% of the new balance.

$879.01 x 0.05 = $43.95





The minimum payment for this statement is $43.95.

f) Available credit is equal to the credit limit minus the new balance.
$4500.00 — $879.01 = $3620.99

Henry has $3620.99 in credit available.

9. a) For a loan at 5.00% per annum with an amortization period of 2 years, the monthly
payment is $43.87 per $1000.00 borrowed.

Monthly payment = $43.87 % ($10 500.00 + $1000.00)

Monthly payment = $460.64

Amortization period of 4 years:

Monthly payment = $23.03 per $1000.00 borrowed

Monthly payment = $23.03 x ($10 500.00 +~ $1000.00)

Monthly payment = $241.82

$460.64 — $241.82 = $218.82

The 2-year loan has the higher monthly payment, by $218.51.

b) Calculate the total cost of each option.

2-year loan:

$460.64/month x 24 months = $11 055.36

With an amortization period of 2 years, the total cost of the loan is $11 055.36.
4-year loan:

$241.82/month x 48 months = $11 607.36

With an amortization period of 4 years, the total cost of the loan is $11 607.36.
The 4-year loan has an overall higher cost.

$11 607.36 —$11 055.36 = $552.00

The 4-year loan costs $552.00 more than the 2-year loan.

c¢) Nadine may have to take the 4-year loan because she may not be able to afford the
monthly payments for the 2-year loan.

10. Calculate the total cost of each payment option.
Option 1:

($115.00 x 5) + $25.00 = $600.00
Option 2:

I=Prt

1=13$575.00 x 0.05 x (30 + 365)
I1=1$2.36

Cost = $575.00 + $2.36

Cost = $577.36

Option 3:

Solve for r.

The interest is 1.2% per day.

1.2 x365 =438

The interest is 438% per year.
Convert to a decimal.
r=438+100

r=4.738

Solve for z.

t=30

365





Solve for n.
n =365
Insert the values into the compound interest formula.

4=pP(1+ %)nt

A = $575.00(1 + %)BGSX%)

A =575(1.012)30

A =822.40

Cost = $822.40

Option 2 is the least expensive option, so Joseph should pay using his personal line of credit.
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SAMPLE CHAPTER 3 TEST... Do Not Mark On This Review!!!

Name: Date:

Choose the best response to each of the following questions.
1. Which transaction cannot be made using internet banking?

a) salary payments
b) cash withdrawal

¢) bill payment
d) money transfer

2. Chantal has a part-time job during the school year and works full time during the summer. She has saved
$5000.00 for her college fund. She put it in a savings account which earns interest at 2.50% per annum,
compounded semi-annually. How much interest will she earn after 3 years?

a) $187.50
b) $386.92
¢) $375.00
d) $384.45

3. On April 25, Tan withdraws $1000.00 cash on his credit card. This withdrawal appears on his monthly
statement issued May 2. lan does not pay off this amount until May 13. His credit card company’s simple
interest rate is 20.00% per annum starting on the day of the withdrawal. Calculate the interest he must pay.

a) $6.03
b) $6.58
¢) $10.41
d) $10.96

4. Jasmine has a Value Account at Bank of Atlantic Canada. The bank account offers 10 free self-service
transactions. Additional self-service transactions cost $0.50 each, and teller-assisted transactions cost $1.00
each.
She keeps a record of her transactions in her own record book. In April, she made the following transactions:
+ 6 ATM cash withdrawals from a Bank of Atlantic Canada branch
« ATM deposits for $450.00 and $100.00
« 4 internet bill payments
« Purchase of US traveller’s cheques
How much did Jasmine pay in service fees?

5. If the simple interest is $75.00 on an investment at 2.50% per annum for 3 years, what is the principal?

6. Estimate how long it would take an investment of $2000.00 to be worth $4000.00 at 3.00% per annum,
compounded annually.





7. An investment of $7000.00 is made with interest at 4.50% per annum, compounded annually for 2 years.
Determine the value of the investment at the end of 2 years.

8. The unpaid balance on Saba’s credit card is $205.50 with interest charges of $4.20. If the new charges
total $354.80, what is the minimum payment? The minimum payment is 5% of the new balance or $10.00,
whichever is greater.

9. You need $200.00 right away to pay your cell phone bill. A payday loan company asks you to write a
cheque for $200.00 plus pay a fee of $9.50 up front for each $100.00 borrowed, and you have 5 days to repay
the loan.

a) What does it actually cost you to pay your cell phone bill?

b) What is the annual interest rate for this loan?

10. Marco has found his dream motorcycle at a dealership in Moncton, NB.

The dealer will sell it for $16 450.00 cash or for $470.00 a month for 3 years with a down payment of
$1000.00. Marco can get a loan from his bank at 7.00% for 2 years. He cannot afford to pay the whole
amount in cash, but he does have $1000.00 in savings. He is considering his payment options.

Option 1: Take the dealer’s offer of $470.00 a month with $1000.00 down payment.

Option 2: Borrow $15 450.00 from the bank, add it to his $1000.00 savings, and pay the dealer in cash. His
monthly payment to the bank will be $691.85.

Option 3: Borrow $16 450.00 from the bank, pay the dealer in cash, and keep his $1000.00 in savings. His
monthly payment to the bank will be $736.63.

Marco creates a chart to help him decide which option is best.

Cash Monthly payment (8) | Total paid for the loan ($) | Total paid for the motorcycle ()

Option 1 | $1000.00

Option 2 | $1000.00

Option 3

Complete the table. Discuss the advantages and disadvantages of each option. Which option would you
choose? Explain your choice.





SAMPLE CHAPTER TEST SOLUTIONS

1. b) A cash withdrawal cannot be made through internet banking.
2. b) Chantal earns $386.92 interest in 3 years.

4=P(1+ %)nt

0.0250y %>
A = $5000.00 (1 + )

A = $5000.00(1 + 0.0125)°
A = $5000.00(1.0125)°

A =~ $5386.92

I=4-P

1=3$5386.92 — $5000.00
1=8386.92

3. ¢) lan pays $10.41 interest. He pays interest for 19 days (6 days in April and 13 days in May).
1= Prt

1=13$1000.00 x 0.20 x (19 + 365)

1=1%510.41

4. Jasmine made 12 self-service transactions and 1 full-service transaction. She gets 10 free self-service
transactions, so will be charged for 2 self-service transactions and 1 full-service transaction.

service fees = (2 x $0.50) + $1.00

service fees = $2.00

Jasmine will pay $2.00 in service fees.

5. Convert 2.5% to a decimal by dividing by 100.
2.5+100=0.025
Substitute the known values of the variables into the simple interest formula.
1= Prt
$75.00=P x 0.025 x 3
$75.00=0.075P
$75.00 0.075P
0.075  0.075
$1000.00 = P
The principal is $1000.00.

6. Use the Rule of 72 to estimate how long it will take for an investment to double in value.

72 + interest rate = time in years

72+3=24

It would take approximately 24 years for an investment at 3.00% per annum to double in value.

7.A=P(1+%)nt

0.0450)(1“)

A = $7000.00 <1 + 1

A = $5000.00(1.045)2
A~ $7644.18
The value of the investment after 2 years is $7644.18.





8. Calculate Saba’s new balance.

$205.50 + $4.20 + $354.80 = $564.50

Calculate 5% (0.05) of the new balance.

0.05 x $564.50 = $28.23

This is greater than $10.00, so Saba must pay $28.23.

9. a) You must pay $200.00 plus the fee for each $100.00 borrowed.
cost of loan = $200.00 + (2 x $9.50)
cost of loan = $200.00 + $19.00

cost of loan = $219.00

The loan actually costs you $219.00.

b) Use the simple interest formula.
I=4A-P

1=13$219.00 — $200.00

1=1%$19.00

I=Prt

$19.00 = $200.00 x r x (5 + 365)
$19.00 =2.7397r

19+2.7397 =r

6.935=r

Convert the interest rate to a percentage.
6.935 x 100 = 693.5%

The annual interest rate is 693.5%.

10. Calculate the total cost of each option.
Option 1:

cost = ($470.00/month x 36 months) + $1000.00
cost =$16 920.00 + $1000.00

cost=$17 920.00

Option 2:

cost = ($691.85/month x 24 months) + $1000.00
cost =$16 604.40 + $1000.00

cost = §17 604.40

Option 3:

cost = ($736.63/month x 24 months)

cost =817 679.12

cost=3$17 679.12

Option Cash payment (3) | Monthly payment Total paid for loan | Total paid for
(%) (3) motorcycle ($)
1 $1000.00 $470.00 $470.00 x 36 = $16 920.00 +
$16 920.00 $1000.00 = $17
920.00
2 $1000.00 $691.85 $691.85 x 24 = $16 604.40 +
$16 604.40 $1000.00 = $17
604.40
3 - $736.63 $736.63 x 24 = $17 679.12
$17 679.12

Option 1 has the cheapest monthly payment but costs the most overall.
Option 2 is the cheapest overall and has the second lowest monthly payment.
Option 3 has the most expensive monthly payment but does not cut into savings.

Student selection of payment option will vary depending on circumstances.
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Chp. 3: Financial Services...Review

PRACTISE YOUR NEW SKILLS |

1. Pierre wants to open a bank account at the Atlantic Bank of Canada. He has
$900.00 in savings. His monthly paycheque is $1800.00 after deductions.
His monthly expenses are $1500.00. He is saving $300.00 a month to buy a
car. He estimates that he will need to write about 4 cheques a month and use
his bank card for about 14 transactions. Using the Atlantic Bank of Canada
account information on p. 96, calculate Pierre's likely service charges for two
months for each of the four account types.

2. Indicate which banking service can be used to complete each of the
transactions listed below. Banking services are: bank card, online banking,
bank teller, ATM, and cheque. Mote that a transaction can be completed
using more than one method.

« pay bills « purchase items from a store
= buy travellers cheques + deposit paycheques

«  withdraw cash « obtain foreign currency
 deposit cash or cheques « check the account balance

« transfer money between accounts

3. Wendy has $3000.00 to invest at 3.00% per annum simple interest. How
many months will it take her to earn $60.00 interest?

4. Raul purchases a snowboard by getting a simple interest loan from a store.
The snowhoard costs $800.00, and the interest rate on the loan is 10.00%.
The loan is to be paid back in 12 equal monthly installments over 1 year.

a) Calculate the amount of interest paid over the year.
b) Calculate the total amount to be paid back.
¢) Determine the monthly payment amount.

5. An investment of $1000.00 is made with interest at 4.25% per annum
compounded annually for 3 years.

a) Calculate the interest earned and the investment value at the end of
each compounding period.

bl Calculate the interest earned after 3 years.

6. How long will it take for an investment of $5000.00 to double if the annual
interest rate is 2.00% per annum?

7. When Elena was born, her grandmother invested $4000.00 to be used
for Elena’s college tuition. How much will the investment be worth when
Elena is 17 if the interest rate is 4.50%, compounded semi-annually?





8. Use Henry's credit card statement Bonk of Customer Nama: Henry
ST O
chown here to answer the ATLANTIC Card Number: 999 B283 7777 5678
followi uestions Staternent Date: Oct 4, 2011
me q : CANADA Previcus Statement: 3ep3, 2011
a) What is the total of his
purchases? Transaction date Posting date  Activity description Amaunt ($)
1) What is his unpaid balance PREVIOUS STATEMENT BALANCE $527.55
on this statement? Sep 04 Sep s PRYMENT — THANK YOU -$200.00
Sep 04 Sep 0 BC Ferries $65.00
©) What s the interest charged | g5 g Sep07  Jand NElectronics $245.80
on his unpaid balance? Sep 10 Sep 11 Gas Saver $52.00
d) What will the new The Seafood Factory
. Sep 15 Sep 17 pstautant $105.65
Sep 18 Sep 19 BC Ferries $65.00
el  What will his minimim v .

: Sep 28 Sep 30 Parkn Save $12.50
payment be for this ey c—m— —_—
statement? Payment information Calculating your balance

Minimum payment $ Previous balance §

) How mu.ch credit does he Payment due date Oct 26 | Payments & credits %
have available? Credit imit $4500.00 | Purchases $

9. NMNadine wants to purchase a used Ayvailable credit $ Cash advances §
car for $10 500.00. Her bank Annual interest rate 1950% | Interest $
offers her a loan at 5.00% per Other fees $
annum, compounded annually. MEW BALAMCE §

She has a choice of paying off the

loan over 2 years or over 4 years.

a) Which option is the most expensive each month, and by how much?

Use the personal loan payment calculator table. 3. 8 months
b) Which option is the most expensive overall, and by how much? 4 a) 380,00
c) Explain why Nadine might have to choose the most expensive option. b) $880.00
10. Joseph took his dog to the vet for emergency medical treatment. The bill for &) $73.33
the vet care was $575.00. Joseph doesn't have enough cash to pay the hill,
. o . 5. a)
so he has three payment options. He expects that it will take him 30 days
to repay a loan. Period | Valueat | Inferest | Value at end
. _ . . beginning of period
Option 1: He can pay in installments. The vet will let him make monthly of period
payments of $115.00 per month for 5 months, plus an administration fee 1 $100000 |$4250 | $104250
of $25.00. ? $1030.00 [$44.31 | $1086.81
Option 2: He can borrow the money from his bank on his personal line of : §106090 |$4619 | $1133.00
credit at an interest rate of 5.00% per annum. bl $133.00
Option 3: He can get a payday loan at an interest rate of 1.20% per day. 6. 36 years
Calculate the total cost of each of the payment options. Which option 7 $852340
would you recommend that Joseph choose?
8. a) 5546.04
3| s b) $32755
2
= o 542
d T d) $879.01
E g) 34395
5 f) $362099
2 |w = = R Sl
2] = = =1k = .
52 |g oo 2 o™ B 9. a) The 2-year loan has the higher monthly
e SE |= o=l |aE e = payment, by $218.51
= 0O owm E— = 1l %g = 1l = J tha e
& " % S g S ;%J" E 3 g % S S o s b) The 4-year loan costs $552.00 more than
= Z 3 a |7 |2 & E “ “ £ the 2-year loan.
] g |= gt |3 |3 |8 - :
= NEEEE =232 | = ¢} Madine may have to take the 4-year loan
x e 5 = |~ =E |” e HNNNNE 1. because she may not be able wo afford the
E @ Bl |E & £ § = monthly payments for the 2-year loan.
= E 3 (82| EE [B (228 ¢ 2 I
= @ SR =1= 35 _ =8| = =2 o 10. Option 1: $600.00
= 2 E (& |e&g EET “2al=l = " s 15 |~lw - i
= 8 E e Ens - - 8 |2 |Z|.|88 tl)pt.lon 2 ‘:a.w .36
§ E = Eﬁg‘ = £ § i é g H E Option 3: $822.40
= — | E 5| = Ba|l™cs8Els 8w 4 5|2 |E|Z[E|2 S o ; i
= E|EE|E |E&|E|E8g|E |8 a2 ,';‘j MEHEREEARIEEE Option 2 1s the least expensive option, so
& S|EG|lSg|lEE|S|E8|Sg|lE Bl S|E|E|B1E2|2|E|5|8 seph should pay using hi sonal line of
& - =lan|=8EG|=|lan~|=2[E6|F[ 4 HEEEE EE%E [05:395(}11 pay using his perscnal line of
credit.
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